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wems | #a | wemEman |Piol| mateen  |29aR|wes | Lhak %kjfé‘o% RERR | REE | BER REX
(1043)

101652000008730 | i +#k EARFER 045113 | ZRHZE (EAR) A=k 379 9 86.4 318 1272 | 785 |#IFBE
101652000008731 | RE X ERF R 045113 | ZREE (EXR) EN=k 355 8 88.2 338 130 | 757 |#UFER
101652000005659 | #5814 EARZFERT 130400 ERZ A=k 398 7 79.8 314 1182 | 79.36 | #IFEX
101652000005501 | F & ERFR 130400 ERZE c=kl 393 9 86.2 324 127.6 | 80.54 | #lFHE
101652000005487 | 454 EARZFERT 130400 ERZ cA=E 387 10 88 322 130.2 | 80.22 [#UFER
101652000005563 | #f 5B ERFR 130400 ERZE c=kl 383 7 85.2 32.8 125 | 78.62 |#MFEE
101652000005959 | XI¥H3E EARZFERT 130400 ERE ex=k: 379 7 80 316 118.6 | 76.78 | #IFE
101652000005440 | #8354 EARFR 130400 ERE cA=E] 377 9 78 302 117.2 | 76.22 | #3FE
101652000005495 | 37k ERFER 130400 EARZ < Bl 375 10 914 34.8 1362 | 79.74 | #IFE
101652000005792 | TEH ERFR 130400 ERZE c=kl 366 8 83.6 30.8 1224 | 7572 | #IFE
101652000005839 | X|—0g EARZFERT 130400 ERZ ex=k: 365 7 84.6 304 122 | 755 |#IFER
101652000005934 | EHBMN ERFR 130400 ERZ E=k 364 8 82 324 1224 | 7544 |$FER
101652000005612 | F=3% EARZFERT 130400 ERZ Ex=k 363 10 86.6 34 130.6 | 76.94 [ #IEEL
101652000006055 | 2hE 2 ERFR 130500 ®it= £8% 412 10 90 348 134.8 | 84.64 | #FEH
101652000006234 | 3K A7 EARFERR 130500 wit# Ea=F 396 10 90.6 342 134.8 | 824 |[HIFEE
101652000006190 | Z i EARFR 130500 witZ 28 392 7 85 30.2 122.2 | 79.32 | #lFEH
101652000005995 | FEE = EARFER 130500 witE EA=E 386 9 88 338 1308 | 802 |[#IFEE
101652000006033 | 7 E & ERFR 130500 ®it# =k 378 7 86.2 34.4 127.6 | 7844 | #ilFEM
101652000006039 | 3k—X EARFRE 130500 witE EA=E 373 9 87 31 127 | 77.62 | #EEL
101652000005971 | EFWEE ERFR 130500 wite e=k] 363 9 89 332 131.2 | 77.06 | #UFE
101652000006218 | 3+7 EREARR 130500 witE £ HH 361 8 814 30 119.4 | 74.42 | #il%E




101652000005783 | FE3 135107 ER cN=E 401 85.2 324 1276 | 81.66 | #LIZE
101652000005804 | EE#A 135107 EN < B 395 90 344 1324 | 81.78 | #lFE
101652000005596 | =& 135107 ER cA=E 388 82.6 346 1252 | 79.36 | #IRE
101652000005551 | f83C% 135107 EVN £HH 387 81.6 334 125 | 79.18 | #AFE
101652000005629 | 3 Eenf 135107 ER cA=E 384 91 35 134 | 80.56 | #LIREX
101652000005913 | 2= 135107 EJN ex=k: 380 81.4 34 1234 | 77.88 | #IZE
101652000005623 | #MEEF 135107 EVN EA=L 378 82 35 126 | 78.12 [ #3RER
101652000005337 | fRZ 14 135107 EJN =L 374 84.6 338 1274 | 77.84 | #IFE
101652000005477 | SR 135107 ER EA=E 373 82.4 346 126 | 77.42 | #IFBE
101652000005609 | #pH8i% 135107 ER = 371 83.4 34.6 127 | 77.34 | $UFEE
101652000005570 | EX & 135107 ER cA=E 370 91 35 134 | 786 |#IFEBE
101652000005795 | FeHIAN 135107 EJ/N £HH 368 84.8 332 126 | 76.72 | 43RE
101652000005591 | &E#52 135107 ER cN=E 367 86.2 3438 129 | 77.18 | #IEE
101652000005949 | B g 135107 ER e=k] 365 83.8 334 1262 | 76.34 | #lFE
101652000005457 | 2% 135107 ER cA=E 362 86 31.2 1242 | 75.52 | #IRE
101652000005698 | F& i 135107 EJN < B 361 85.2 334 1266 | 75.86 | #lFE
101652000005867 | FEk 135107 ER cA=k 361 84.8 334 1252 | 75.58 | #LIREL
101652000006191 | Z{EAR 135108 ZAREIT £8% 411 82.4 33.6 124 | 8234 [#3EE
101652000006212 | $BEE 14 135108 ZARIEIT cA=k 411 81.8 338 1236 | 82.26 | #EE
101652000006042 | Z=HH 135108 ZAREIT £HH 410 84.2 346 126.8 | 82.76 | $sRER
101652000006136 | SRS 135108 ZARIEIT EA=E 407 82 334 123.4 | 81.66 | #LIZE
101652000006158 | SEHMA 135108 ZAR®EI e=k] 406 81.8 342 123 | 8144 |#IFE
101652000006047 | F{EH 135108 ZARIET cA=E 404 83.4 36.2 1276 | 82.08 | #IZE




101652000006037 | E{EEE ERZERR 135108 ZARIEIT cN=E 402 82.8 35.2 126 | 81.48 | #LIEE
101652000006002 | E141E ERFRR 135108 ZAREI S B 401 82.4 332 1226 | 80.66 | #IFE
101652000006057 | 3 {E&E EARZFERT 135108 AR cA=E 400 84.6 37 1286 | 81.72 | #IEE
101652000006076 | EHtE ERFRR 135108 ZARET £ B 400 83.6 356 1282 | 81.64 | #IFEE
101652000006017 | prizi EARFER 135108 ZARIEIT cA=k 394 82 33 123 | 79.76 | #IRE
101652000005989 | H#i EARFR 135108 ZARIEIT =k 392 83.8 338 1256 | 80 |#AFEE
101652000006026 | #h$ EARFERR 135108 ZARIEIT cA=k 390 84.4 35 127.4 | 80.08 | #H3FEE
101652000006139 | REEH ERZER 135108 ZAREIT ca=k 390 82.8 342 126 79.8 | $URER
101652000006205 | [3#A8 EARFERR 135108 ZARIEIT cA=F 390 83.6 33 1236 | 79.32 | #3EE
101652000006001 | F&E% EY N 135108 ZARIEIT c=E] 389 81 35 123 | 79.06 | #IFE
101652000006140 | FrifgE ERZR 135108 ZARIEIT ex=k 387 82.8 34 123.8 | 78.94 | #IFE
101652000006138 | #1E3F EY N 135108 ZAREI ca=k 386 79 346 121.6 | 78.36 | #UFE
101652000006207 | 3 —#& EARZFERT 135108 ZARIEIT cA=E 386 81 334 122.4 | 78.52 | #IZE
101652000006189 | BLI& ERFR 135108 ZARIEIT E=k 385 82 336 122.6 | 78.42 |#IFEW
101652000006209 | #HHr#s EARZR 135108 ZARIEIT cA=F 385 80.4 336 121 | 781 |#IEE
101652000006235 | E%& ERFR 135108 ZARIEIT E=k 385 83.6 35.2 126.8 | 79.26 | #FER
101652000006044 | i8R %8 EARZFERT 135108 ZAREIT EN=k 384 84.2 36 129.2 | 79.6 |[#IEER
101652000006045 | #2558 EARFR 135108 ZARIEIT c=k] 384 85.6 34 127.6 | 79.28 | #UFE
101652000006118 | E X4 EARZFERT 135108 ZARIEIT cA=E 384 81.8 33 121.8 | 78.12 | #IRE
101652000005963 | 3¢ /&% EARFR 135108 ZARIEIT c=E] 383 81.8 332 123 | 78.22 | #IFE
101652000006018 | 5 B2EE ERFER 135108 ZARI&KIT cA=k 383 81.2 338 123 | 78.22 | #IFEE
101652000006167 | #HEEfS ERZER 135108 ZAREIT ca=k 383 82.8 35.4 1272 | 79.06 | #AFE
101652000006064 | &% ERZFERT 135108 ZARIEIT cA=E 381 84.2 338 125 | 78.34 | #IRE




101652000006184 | {EM ERZERR 135108 ZAREIT 2B 380 80.6 33 120.6 | 77.32 [ RFEE
101652000006062 | 254 ERZRR 135108 ZAREIT cA=kdl 379 81.4 32 1204 | 77.14 | RFEWR
101652000006025 | Z=BA%L ERFR 135108 ZAREIT < Bl 377 80.6 332 1208 | 76.94 | AFE
101652000006035 | &= ERZRR 135108 ZARIEIT E=kl| 377 84.2 36.6 129.8 | 78.74 | #IFE
101652000006164 | 478315 ERFR 135108 2R < Bl 377 81.2 336 121.8 | 77.14 | RFB
101652000005984 | FE 7R ERER 135108 ZAREIT =kl 375 81.8 32.8 1236 | 77.22 | R3EW
101652000006050 | E&s EARFERR 135108 ZARIEIT EA=E 374 84 35 128 | 77.96 | RFEE
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